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Examination- J[JNE-2020
Compulsory/Optional

Group -
Paper-II

SPECIALISED ACCOUNTING
Time:- Three Hours I

*e ' dfr s".df t fttvrrgsn sff{ Afrg r cEI d so, vrd qrGfi sily
Note: Answer from Both the Section as Directed. The in the

Errg/Section-A

ffioTfrErg.ffisrfrdffiN{fu9'
Answer the following very short answer type questions:
(a) ftqr aFNIrq fi {trkn qRilil{ qq srdtIfr 4 fr Rqnrq

(d) Gtrr sTkfiN goo of {rRr =q-{irq fril{r} t sTk6 dfr t
(lTfr/rrirn)
When the amount of Royalty is more than minimum
surplus. (TruelFalse)

Share on in schedule 4 Operating expenses
(True/False)

(b) rTI-{n fr otrft ffi irl trT{ qrFrfuo ffir HRI frilr
In India, currency notes are issued by the commercial

(c) qtr{ qrnT s"nfr d st;nrfn {errft qqFmil d frqr
A ilq s&T fr fuqr GTrn-r * r F€ /Tra)
Under double accounting system, fixed assets ate
account with cost price without deducting the

(e) rer+q w+Trct qft sPilfidi o).tt-rr-{6rfr qfil1Fffi ?DEr

Securities of local authorities is called as Non-Govt.

(0 qR eE;T f{qr rril dr d ftn aFNTFT fr oTfrftffi
If nothing is given what percentage is maintained for
insurance business.
(i) 0% (ii) t0%
(iii) 20% (iv) 2s%

(g) M qilHrft qft Eqn fr srg srrrr qft srkfrirq ftqr sfrrfl
In Electricity company the maximum limit of clear
Reasonable return
(i) t0% (ii) 20%
(iii) 30% (iv) 40%

(h) UTrq rrq Mf rN W t-(i) onq (ii)
(iii) qrF;q srq oTrrr (iv)

sqrffif, 3rq
Erfun

(ii)
(iv)

Accrued
Liability

Rebate on Bills discounted is
(i) An Income
(iii) Income Revised in advance

Marks:80

tr
indicated marks.

1xl0

t t Fre trrail
to Insurance Business

{S 3nDzro oET qrflT t r

then it will be called

tt (rrfr /rTTa)
(True/False)

qira dr-{KT T@ rN [ffi
in the left part of capital
(True/False)

t t Fr-e /Tdd)
(True/False)

of cMI Eq T61 Gnft tZ
reserve in general

o-r ftqifrm sfurn t-
is following percentage of



(i) qq ;q3rnq fuwi at yrftr sTktrN gm {t oTk6 6}ft t
+
tl-

(i) sTknrr Ttr rrfrfr
(iii) Bq{F (i) sil-r(ii)

(ii) Erg-ord

(iv) ot$ TSf
When the amotrnt of minimum rent is more than Roylty
(i) Royalty Reserve
(iii) Both (i) and (ii)

(ii) Short
(iv) None

2.

3.

CI) vo q{ fr nq 3mE d frfurq t-
(i) qrq.frfuFr (ii) ffiqfrfuFr
(iii) r{rqrfr fdfuFr (iv) ot{ TS
Investments less the one year period is -
(i) Current Investment (ii) Long term
(iii) Govt. Investment (iv) None

ffi dg-strtq sfiT d vtrr ffiqg:
Answer the following short answer type questions:
(a) rTl-rTrdl ftqr t{ slltt EMt nurfr tU

What do you turderstand by General Insurance?

(b) trt t frrlq d frfuq xrr{ rorqqq?
State various types of deposit in a Bank?

(c) +ERr EITcTT s"nfr d Eilq ildr{q?
State the merits of double accounting system?

(d) sTkfrrq yftr mr enf wrsrgq?
Explain meaning of Royalty?

(e) sqrffin erm dt rrrflr{q?
Explain the Accrued Interest?

Elw,/Section-B

ffi fr{ vtrtq sql.fr d ffirt frFqs:
Answer the following long answer tyqe questions:

wr{ /tJnit-l

v6 ftqr oorft d fdrg frq dr wrnr{q-
(i) ftfu{q (ii) qiltuH (iii) qmr

Explain following for an Insurance company-
(i) Premium (ii) Commission (iii) Claim

wrqr./ oR

31 nd 2oln dt ffiffi GTFq G Hrqrq ftn oqft dl Sw@1
Following balances appeared in the books of Chhattisgarh
Company as on 31tt March 2018

f{ff{r ftfrqq Urrillq (Reinsurance Premium Paid)
3m[rTrq dkq fiTq 01 .04.2017 (Reserve for Unexpired Risk I
req qq (Management Expenses)
ftfr{q srfum (Premium Received)
oftH (Commission)

EItr TrilH (Claims paid)
frfurq rN ErB (Loss on Exchange)
cil-ffi Ern 01 .04.201r (Claims outstanding l-4-2017)
crcrrTrqm drkq d fuq sTfrfrffi €trq 01.04.2017

(Additional Reserve for Unexpired Risk l-4-2017)

gs onflff,q o\ oET qrflT

this surplus is called -

f{qffun eTfrrm efi-
and General Insurance

t7)

2x5

l2x5

20000

amount

Rs.

s0000
824800

t2s600
789000
1 s2000
221000

9000
28r000



ftqifud {qqrcil o} tznq fr yst gg 31.03.2018 qrd q{ d fdq
(i) T€ frfrqq rN sooh smr+rrqT sirfuq ri{q Afuq I

(ii) oTfrfrffi fiTq Tq ftfuq-q d rcoh t{ {6r+r tl
(iii) Gi-ffiT frfr{q ed d Gin fr lsoooo ro. e} r

(iv) 31.03.2018 o'r Gi-ffiT Ern 337000 s. d e) 
r

(v) g-{ffqr ftfr{q w oTffid qilfrqm sooo E. t r

You are required to prepare Revenue Account for the your
following information in to consideration:-
(i) Provide for unexpired risk at 50% of the net premium.
(ii) Additional reserve is to be increased by l0% of the net
(iii) Premium outstanding at the end of the year Rs. 150000

4.

(iv) On 31't March 2Ot8 the claims outstanding were Rs. 337000.
(v) Commission earned on reinsuranc._ Rr. 5000.

$T{/unit-rr
\'fr tffiq qilqft d ftrq fu{ o't wqsrgq-
(i) gffi T€h (ii) orgr{fr-e oTFrq (iii)
Explain following for a Banking company-
(i) Slip System (ii) Schedule-9 Advanced (iii)

qerql'/ OR

korqgq t6 frfras o-r 31 qrd zols o'r ffiilre ftqifuo t r

15000 3r{il t f{rrffi t r

E.
goil Tfr
(r oo $. qrd l oooo GrYr)

u-{rq gq frqe

r{Fdn otq
TTE HI-ct ft sTBM
q qiTTT dFTTET

qirr q{ tq xur
qrq, fretq

wftq 3il{ frffid

Paid-up capital ( 10000 shows
of Rs. 100 each)

Bills discounted

Reserve fund

Cash credit and overdrafts

Unclaimed Dividends

Loan payable on demand

Current Deposits

Furniture and Fixtures

10,00,000 qerrft fretq

dFr 6rB sri o1
9,00,000 *tu qr+t

dFT qrq. cDI

BqEsf{ffi
EW{q tos
tn fr t6s
ETI'{rfl IN 3ffiT fr

Rs.

10,00,000 Fixed deposits

Profit & lose
9,00,000

1

balance (including Rs.
for current year

Stamps and stationary

Cash in hand

Cash at Bank

Investment in shows at

riqffio qrdd t fu sr-d frfuFr ftrge if sr qrd zorg o\ e]qrs
&nf+o ffi zs%w otfuq r sr qrd zirg ol frqifta msr fr d-o or
The trial balance of Bilaspur Bank Ltd. As on 31't March 2019 stood on
divided into 15000 shows of Rs. 100 each.

3,85,000

14,00,000

5,000

23,00,000

25,00,000

20,000

3,85,000

14,00,000

5,000

23,00,000

25,00,000

20,000

The direction required the Bank Investments to be shown in the Balance
March 2019 which is Rs. 525000. Make statutory reserve at25%o Prepare the
on 3l't March 2019 inthe prescribed form.

3 I -03-201 8 after taking the

16 Operating Expenses

oTBqn TS 1oo E. qrd

525oOO r5. rN f{qrq qrq 
t

Its authorise capital is

sheet of the Bank as

at market value on 3 I't

EIIflT GFITW:_

6 WTIE]TT ARI

l,l 0,000

1,10,000

15.

r)

ffi-rsg I

00000 Profit
credit

5,000

2,50,000

6,50,000

4,7 5,000

Rs.

20,00,000

5,000

2,50,000

6,50,000

4,7 5,000

r5.

20,00,000



qrsrT Fr]-Ex sild 3rfuq

Prepare imaginary

Vfi.TS GilgHo q GTk6
lg. qft dr{KT t{ dqrqr rrcn

w str*I et FTr-{Kr q !F+r{r:

Er& €.n dr Tgd ql
gqfi nua t srw at

grri {i{, om$rq d Eq
qd qrfr t r ilirdTf$ fu

in the construction of the

gm A qcFN

of Royalty

tddqq 20 qqTdfu
sfr rT tl rS6 q{ o1

qrd qE t fu qR dgznrd

of qrq'.ftU s{d Eht

its old plant with a
at the cost of Rs. 60 Lakh.
the ratio of 5:3:2. It is

40% and 50% respectively.
the same as before. The

in additional, material of a

The accounts of the
how much amount would

ledger account?

;T ftrqr qr rrd dr fr{r
Etr{i c5-t'eIkfiN afr

6000 G, Ffrq qS fr 15ooo

frN wfu d 3r-{1116 &

for 20 years at a minimum

ton of oil taken out. Each

such short workings only,
in the next year of the

balance of short

first yeffi, 15000 tons for
Entries for the first three

on 31tt December.

-5.
wT{* /Unit-rrr

{nffi6 scrcilFrm qrd srrfrq} A fuf ot frtmnrq ftrfuql
fuf 6l qqss rrrud otFdy?
Write the special features of the account of public utility
proforrnas to show the format of their final accounts?

e,Pm/oR

ffi frg-d 6qft frfr}s t Grri vqr gvrt rf?rd ot
e{rrflT qrA dqr t .nrt fi-r fuTq frrqn q{ 2ol: fr Tf-ffi

{iq of rirflft cn.t rdftT qq
fr nqr rrqT r qrqfr d rqrfr

TI.{I{ q Mq fr frqr
qtflr EITiI't q"nft a

60
er I ETr{kI fr Hrrfr sr+T rTqr sqfufuf fir Grgqrf, s:3:2 sIT I

40% w s0% {dlTilft cF-t 3r5qH t E-n ETIIKT q sqRetfuf cnt

guft s{ kqr{rq a qq TTTbT ot ETTIKT 50 FTI-ET 5. t w$1

.r$ 6 FTI'CI $.
d 1 875000 $.
fuerft vrRT ytrqn qfr Eil-Arft oil{ fr,-ilft {rRr oil-rFr sri fr
efrfui ftfdg w qrt il{r{q?
The Chhattisgarh Electricity Company Limited decided to
modern and large capacity plant. The plant was installed in 201
The components of material, labour and overheads was
ascertained that the cost of material and labour have gave up
The proportions of overheads to total cost is expected to
cost of new plant as per improved design. Is Rs. 150 Lakhs
value of Rs. 6 Lakh recovered form the old plant has been
new plant. The old plant was scrapped and sold for Rs. 1

company are maintained under Double Account System.
be charged to reverse account? Give Journal entries and

6. 3lkfrI{gmdvrEf frrrrgrgg'
(i) =qrnq fu-trqr (ii)

{or{ /Unit-fv

dgoTd nRT (iii)

Explain with reference to Royalty -
(i) Minimum Rent (ii) Short working amount (iii)

.3[{zm/oR

r "r+qfr 20fi o'l Esfu t z4ooo iF. sfr q{ qilirq frt{rn w
Lce q{ ftrql oTBfi'n gco of vrRr ffi qrt qrA fu rN 1

d5o.rd {rRT o'l 3r.rA d qqT d eTqfufuf, fuqr cTr iffiDdT B,

nRT dri qrA q{ d qrE qrA q{ fr ago.rd of Tft vrRT dr
qqfufuo g{ dg{T{ {rRr EFl 50 qfun EEfr{ o} cilrrd qS fr
{*.nt qerrT ft{ qql d AE ot ffi W{ rrnx pft- ssrrT q{ fr
Fr ner Tftq qd d 3oooo FT I EEfr{ of Tr<el fr ft{ q{
qiftTq I Eft{ sfr ed GNrft $n-d 31 krrqr o) qE .FKTT t I

On l't Janu ary 2017 Sudhir required on lease certain oil

but on the condition that if fulI short working could not be

rent of Rs . 24000 per annum, merging into a rcyalty of Rs. I
year's short working can be recovered in the next two years

short working. Sudhir will lose his right to recover 50% of the

working. The output of the fist there years was: 6000 tons for
the second year and 30000 tons for the third year. Show J
years in the books of Sudhir. Sudhir closes his books every



qrcr-qRf, Yr<t oT GTef

Dividend, Cum-Interest,

l qrd o'r qrffio. eq t s$i
q{ rgti I 31 fr{{tq{ zol}
fr rrfr I r qd 2o1s o)

qrd 20lB o't 4ooo $. d 6

1e A frrq fdffirq srnr w
6% -Eqrfi t t e) r

29000. Interest is payable

were purchased Rs. 98

were sold Rs. 95

purchased Rs. 95 Ex-
were sold Rs. 96 on ex-

of Ramesh for 201 8-

7
w$/unit-v

ftffi{ o-r crrlt silqrq tl ol"+Tivr-HBf,, drqiyr-Gf,, Gqm-Trtrf,
sEr6{uT toq Hrsn{q derT frffiq qrd rN E{fi-r qlTlq ildr{q?

What is Investment? Illustrate the meaning of Cum-Dividend,
Ex-Interest and give their effect on Investment Account?

3[tg{il/oR

3oooo 6. d 6% mqwr zoll fr Tlqr t 2e0oo io. fr rg0t I qrcT

1 gor$ 20fi oi sooos. A 6% xurqa eB $. of qr t %%
EDl 4ooo E. d 6% murq-{ es s. qft E{ t +A w rN % %
6000 n. fr 6 % zeurre e5 rF. qft E{ t erm yka sfrt dsr 15

% xqq={ e6 rF. eft arrcT rRm E( rN tn I yfur of grtoT fr zo1

drm Err.TT tqn etfuq I ia .rS 6 % Trurrr-r sarsT 3oooo s. qrA

Ramesh purchased Rs. 30000, 60 Debentures in 2017 for Rs

annually on 31tt March. On ltt July 2018 Rs. 5000 6%

(Brokerage % oh). On 31't December 2018 Rs. 4000, 6%

(Brokerage % % ). On March l't zO1-9 6000, 6% Debentures

Interest and on 15th march 2019 price Rs 4000, 6% debenture

interest prepare Investment Account and interest account in the

19. 6% Debenture sold ware out of Rs. 30000,6oh Debentures.


